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Find _[_Lcos(x-— yysin(x+ y)dxdy=__ (A) _, where R is the triangle with vertices (0, 0), (#, -z}, and (7,
).

. |
Find dc=__(B) .
31-—-6.‘:-—.1:’

Find the minimum distance ___(C) __ between the origin and the surface z* = x’p+4.
For what values __ (D) __ of p does the integral J: —l;dxhdivcrge'?
X

Find the first three nonzero terms __ (E)  of the Maclaurin series for
Find lim (sinx)™ =__ (F) .

X-2i2

Find the length __ (G) _of y= [ 64sin®ucos'u—ldu, —E—st-g-.

l+sinx

Find f(x)=__ (@) _if |/ f()dt =-;-x’,

Find the equation 13 of the normal line (line perpendicular to the tangent line) to the curve
8(x? +»*) =100(x* — y*) at (3, 1).

The Mean Value Theorem for Derivatives says that if fis continuous on [a, ] and differentiable on (a, b),
then there 1s a point ¢ in (g, b) such that ___ (J) _ .
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A. cylindrical can ([EIf£fE) is to be made to hold 1L of oil. Find the dimensions that will minimize the cost

of the metal to manufacture the can.
Find the volume of a pyramid (57 5&) whose base is a square with side L and whose height is A.

For what values of x is the series Z (_1( x) convergent?
n!

2x?

Sketch the graph of y = f(x) =

x-1




